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reset fetchl
fetchl fetch2 1 1
fetch2 fetch3 1 1
fetch3 fetch4 1 1 1
fetch4 fetch5 1 1
fetch5 fetch6 1 1 1
fetch6 fetch7 1 1
fetch7 fetch8 1 1 1
fetch8 decode 1 1
decode | 1 addl 1 1
decode |13 bel 1 1
addl add?2 1 1
add2 add3 1 1
add3 add4 111
add4 add5 1 1
add5 add6 1 1
add6 fetchl 1 1




mem_drive

mem_ write

address_write

arg3_drive

arg3_write

arg2_drive

arg2_write

argl drive

argl write

opcode_write

add_drive

op2_write

opl_ write

plusl drive

pc_drive

pc_write

1

next state

be2
be3

be4
be5
fetchl

be6
fetchl

equal_out

0

opcode_out

state

bel
be2
be3

be4
be5
be5
be6




